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Q.1 [A] Explain secondary data, Also list out sources of secondary data. (7.5

iB] Find mean, standard deviation and coefficient of variation for the following grouped {10]
frequency distribution.

Q2 4] Following data show profit (in Lalhs) of the 50 companies. {7.5}

45 30 48 5300 25 3 2 18 2l 59 51 33
17 35 42 46 33 51 37 58 58 19 33 26 29
9 43 2 31 4 34 31 15 25 34 68 46  Si
43 40 10 38 36 57 36 35 37 58 63

Prepare a frequency table with classes 10-20, 20-30,30-40 ... and also find cumulative
frequency for the obtained distribution.

[B] From the following fréquency distribution of corporate tax (in lakhs) paid by company, [10]
find Median 5 Q1, DB and P15' .

15| 610 | 1115 \-16-20 \21-25 36-40
Number.of 18 75
_companies

Q3 [A] Writea short note on Scatter diagram method. [7.5]

[B] Find Karl Pearson coefficient of cotrelation between Experience and Performance [10]

ratings and interpret it.
Expetience (in years) {x) 15 |1 b7 13 12 {9 4 |1
Performance raings (5) | 85_| 86 [s7 66 (76 |78 |77
Q.4 {A] Thesom of squates of differences in ranks for two variables is 33, and the coefficient of  {7.5}
cank correlation is 0.8. Find the number of pairs of observations,

[B] Find Spearman’s Rank Correlation for the following data. 1101

x [ 30 | 22 45 | 63 | 49 | 32 74\18\2%

70 | 82 | 60 | 50 | 8 | 8 0 1 90 | 75

Q5 [A] Distinguished correlation and regression. Write properties of correlation coefficients. [7.5}
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[B]

Q.6 [A]

[B]

Q7 [A]

(B]

Q8 [A]

B]

On the basis of the following information of
company. Estimate the profit for the firm ifj

R & D expenditure on annual profits of a
t desites to spend Rs, 17 lakhs on R & D.-

Expenditure (In

LakhsRs) [ 14 12] 1011579

10/8 |7

Profit (Lakhs Rs

) 50147464613

5139130125

The following information is obtained from the result of two variables x and y,

X

y

Average

37

43

S.D.

10

|

16

IiZ01°relation co-efficient between x and y = 0.45.

Find appropriate regression line, and hence estimate y for x = 50,

If the lines of regression of variable x and v are:
8x — 10y = —66and 40x 18y = 214,

Find (i) the mean values of

Standard deviation of y if the standar

From the chain based index

x and y. (if) Correlation coefficien
d deviation of x is 3.

numbers given below, find fixed base index numbers:

[10]

(7.5)

t1oj -

t between x and y iii)

[7.5]

Year 2011 { 201

212013

2014

2015 | 201

62016

2017

2018

Chain based

| index

Calculate (1) Laspeyre’s and (2) P
Further test whether each of these

105 I 108 ! 109

104

107

112

110 | 116

aasche’s price index number f;
satisties the time-reversal fest.

or following data.

2010

2019

Commodity

==l

Price

{in Rs)

Quantity
(in Kg)

Price
_(in Rs.)

(inkg.)

Quantity

24

12

28

9

18

20

20

32

24

180

22

244

48

36

52

25

=Moo

24

48

20

60

What is index number? Why

nation,

Calculate index number by [1]a

method from the following data,

index numbers are called the barometer of economy of the

geregate expenditure method and [2] family budget

. uantis Price (iri Rs, Price (in Rs,
Commaodity Q2015y 2(515 ) 2519 )
A 600 15 2
B 430 18 2%
C 1 3% 15 20
D 450 6 24
E 300 4 20|

[10]

[7.5]

[10]
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4 40 10 38 36 57 3 35 37T 58 68
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